SA - BB SR(E) - HRAY - BES Ofl kot J| & o Hnz2
=S 11,533,043 10,614,839 918,204
= 1,390, 144 1,390, 144 0
I 122,500 122,500 0
= 908,916 965,233 A56,317
i 9,111,483 8,136,962 974,521
sE dgsd 648,688 548,688 100,000
= 72,524 72,524 0
= 27,690 27,690 0
i 548,474 448,474 100,000
s3&EE |54 575,39% 475,395 100,000
= 72,524 72,524 0
= 27,690 27,690 0
i 475,181 375,181 100,000
SeICHISS 195,600 115,600 80,000
402 CIZHRHE0|N 174,000 94,000 80,000
01 CIZFXHE A B2 (KEHITHE) 174,000 94,000 80,000
O&E4-Hs| 2L} XA
50,000, 0002 *4 I} A *80% 160,000 80,000 80,000
S |=XNc2sSKA 5,200 6,500 1,300
= 2,600 3,250 2650
i 2,600 3,250 2650
201 LE23H| 0 1,300 A1,300
= 0 650 2650
i 0 650 2650
01 At22teld| 0 1,300 A1,300
Osgieigsalos 23 o 0 1,300 A1,300
= 0 650 2650
i 0 650 2650
SE SN EBSKA(LEESAS 29 XIJA) 1,300 0 1,300
= 650 0 650
o 650 0 650
201 et 3| 1,300 0 1,300
= 650 0 650
o 650 0 650
01 At22teld| 1,300 0 1,300
Osgieigsalos 23
1,300,000 *1A! 1,300 0 1,300
= 650 0 650
i 650 0 650
Hd=g0 S2UERT 43 AlY 10,000 10,000 0
= 3,000 3,000 0
i 7,000 7,000 0
1 23| 0 3,000 23,000
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FM: sHEED
dM: =& ogsy
£Hel: sgAEeE S4 CEEEN
2A - B C9(3) - MPAY - BES Ol I3 o GImE==l
= 900 A900
i 2,100 2,100
01 At22teld| 0 3,000 A3,000
OEE=g0 SSHERT 883t Al 2
& o 0 3,000 A3,000
== 0 900 A900
i 0 2,100 A2,100
301 LEt2d= 0 7,000 A7,000
== 0 2,100 2,100
i 0 4,900 24,900
11 #ALAHIXIRAZ 0 7,000 A7,000
OFEF=g0 SSUHERD 24835 Alg &
P amE= o 0 7,000 A7,000
== 0 2,100 A2,100
i 0 4,900 24,900
307 212t01& 10,000 0 10,000
< 3,000 0 3,000
i 7,000 0 7,000
02 SIHBAANHEE 10,000 0 10,000
OEE=Z0 SSUERT 43 29
10,000,000 *1IH £ 10,000 0 10,000
< 3,000 0 3,000
o 7,000 0 7,000
SAHCISISEHA SHOISCHS! AL 20,000 0 20,000
307 212t01& 20,000 0 20,000
04 QIZISHAAIR BT 20,000 0 20,000
O=ZolstEsHH stotStHal ALK
20,000,0002%13] 20,000 0 20,000
MNEERFINEFR 2,831,179 3,076,679 A245,500
= 1,081,750 1,081,750 0
J| 5,500 5,500 0
== 46,500 296,500 250,000
i 1,697,429 1,692,929 4,500
NEELs Jl=He 1,271,179 1,516,679 245,500
= 395,750 395,750 0
J| 5,500 5,500 0
< 10,500 260,500 A250,000
i 859,429 854,929 4,500
ASANELE 29 179,332 173,332 6,000
201 et 3| 24,600 18,600 6,000
02 2224l 21,000 15,000 6,000
OASANEL MRS
400,000 %30 Ax 122 14,400 8,400 6,000
SHECHNELLN AE2H 500,000 750,000 250,000
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B

sA=E
NEEAINEFR
XHEda JI=H (CHR: X 2)
2A - FH - GR(3) - MRAY - BYS )l H o {[ImE=ST
= 250,000 250,000 0
== 0 250,000 250,000
o 250,000 250,000 0
405 XHAHFE SH| 500,000 750,000 250,000
= 250,000 250,000 0
== 0 250,000 A250,000
o 250,000 250,000 0
01 AR ESEFHSHI 500,000 750,000 A250,000
OsASHMENA 2ER2S
500,000,000 500,000 750,000 A250,000
= 250,000 250,000 0
== 0 250,000 A250,000
o 250,000 250,000 0
MRS HOlS olE ¢ & = 30,000 30,000 0
(o= 9,000 9,000 0
o 21,000 21,000 0
101 Q14| 11,330 0 11,330
== 3,399 0 3,399
i 7,931 0 7,931
04 JIRIH2ENSES 11,330 0 11,330
OAEEEZ HollE 0lE Mgt elAh| 11,330 0 11,330
0= 73,2802 101%1252 9,160 0 9,160
== 2,748 0 2,748
o 6,412 0 6,412
0=t 73,2802%101x20 2! 1,466 0 1,466
(o= 440 0 440
o 1,026 0 1,026
0HSEE 10,626,0002 *3.545% 37 0 377
== 113 0 13
i 264 0 264
A |LUEE 377,0002%12.81% 49 0 49
(o= 15 0 15
o 34 0 34
01EEE 10,626,000&*1.6% 171 0 171
(o= 51 0 51
i 120 0 120
M MEE 10,626,000 %1% 107 0 107
== 32 0 32
o 75 0 75
201 LB AH] 18,670 30,000 A11,330
(o= 5,601 9,000 23,399
o 13,069 21,000 AT,931
01 At22elt| 18,670 30,000 211,330
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2AM:
X{XH -
o /e

cH):

24 A O

AT ED}
=BEIRESLS
H=x5 D2

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
OAlZaE Hols tIE 2 ZHH 22
18,670,0002 18,670 30,000 211,330
== 5,601 9,000 A3,399
i 13,069 21,000 A7,931
HollE & 2HHH 6,000 7,500 21,500
< 1,500 1,500 0
i 4,500 6,000 A1,500
405 KHAHE S| 6,000 7,500 21,500
== 1,500 1,500 0
i 4,500 6,000 21,500
01 AL 2EFSHI 6,000 7,500 A1,500
Ogaisdittal eE I 2
6,000,000 6,000 7,500 21,500
== 1,500 1,500 0
i 4,500 6,000 21,500
AMSNE Mo X3 1,560,000 1,560,000 0
= 686,000 686,000 0
== 36,000 36,000 0
o 838,000 838,000 0
H ASS NFEE AIHA 20,000 20,000 0
307 212t01& 20,000 0 20,000
02 QIRHBAIAHEE R 20,000 0 20,000
Ol dZSS Ml sXH 2 SXH X2 S
20,000,000 20,000 0 20,000
402 QIZERHE0|A 0 20,000 220,000
01 CIZFRHE A B2 (KERITHE) 0 20,000 220,000
OH &3S Mo =X & SK X& S
o 0 20,000 A20,000
H golls Ss2Hbl K& 45,000 45,000 0
== 9,000 9,000 0
i 36,000 36,000 0
201 23| 15,000 0 15,000
< 3,000 0 3,000
i 12,000 0 12,000
01 AtR2elt] 15,000 0 15,000
OH dolls 35 ESLHESH|
15,000,000 * 1Al 15,000 0 15,000
== 3,000 0 3,000
o 12,000 0 12,000
206 THZH| 30,000 0 30,000
== 6,000 0 6,000
o 24,000 0 24,000
01 M=l 30,000 0 30,000
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SN sHUEL
A ASEZHLFA
el AEHE Mo T2 CEEEN
2A - ZH - HA(S) - MRAIY - BES Off koK J 3 A HwsZ
O gdlils SsEMdl gHiset 7
30,000,000 30,000 0 30,000
(= 6,000 0 6.000
z 24,000 0 24,000
307 212t01& 0 45,000 /45,000
= 0 9,000 /9,000
z 0 36,000 236,000
02 RIRHEAIAMHE R 0 45,000 /45,000
Ol gdlls Ss2HHl X o 0 45,000 45,000
(= 0 9,000 29,000
[ia 0 36,000 236,000
H AEE SASX AlY 30,000 30,000 0
(= 9,000 9,000 0
z 21,000 21,000 0
307 2120l 30,000 0 30,000
= 9,000 0 9,000
z 21,000 0 21,000
02 RIRHEAIAMHE R 30,000 0 30,000
Ol dSE SAEX AIBAY
30,000, 00024 1JH A 30,000 0 30,000
(= 9,000 0 9,000
s 21,000 0 21,000
402 QI+ XH=20|A 0 30,000 30,000
(= 0 9,000 29,000
[ia 0 21,000 /21,000
02 QI XH2 AL E (01 A THE) 0 30,000 30,000
Ol JMES SAEX AIBA 0 0 30,000 30,000
= 0 9,000 /9,000
z 0 21,000 221,000
W58 sS4 2,202,424 1,467,808 734,616
= 45,870 45,870 0
| 17,000 17,000 0
= 383,483 181,360 202,123
z 1,756,071 1,223,578 532,493
DEE W=sSE At 2,039,184 1,304,568 734,616
| 17,000 17,000 0
[ 357,233 155,110 202,123
s 1,664,951 1,132,458 532,493
USRI 61,000 25,000 36,000
402 QI+ X220l A 61,000 25,000 36,000
01 QI XH2 AL B (KFHITH) 61,000 25,000 36,000
ONEE Ats BIAFRE X
24,000,000 24,000 0 24,000
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2A: sHEDL
M EX SHAA
SHel NSE S Mo CEREERD
SA - BB SR(E) - HRAY - BES Ofl Aot J| & o GImE=ST;
OAtlt MEdata AEE K&
12,000,000& 12,000 0 12,000
sHEMHEHS KA 1,328,000 520,000 808,000
< 332,000 130,000 202,000
i 99,000 390,000 606,000
402 2IZ2EXHE0I1A 1,328,000 520,000 808,000
< 332,000 130,000 202,000
i 99,000 390,000 606,000
02 CIZEXHEAIH 2 (0| X THEA) 1,328,000 520,000 808,000
Os&g Moz X
1,328,000,0002 1,328,000 520,000 808,000
== 332,000 130,000 202,000
i 99,000 390,000 606,000
AS3 A== 413,416 522,800 A109,384
< 17,583 17,460 123
i 395,833 505,340 109,507
402 2IZ2EXHE0I1A 413,416 522,800 A109,384
< 17,583 17,460 123
i 395,833 505,340 109,507
02 CIZEXHEAIH 2 (0| X THEA) 413,416 522,800 A109,384
O&EU XA 13,832, 0002 x50% 6,916 6,450 466
== 1,383 1,290 <3
i 5,533 5,160 373
Ot =3 E ZIIF X
41,000, 0002 *50% 20,500 4,350 16,150
< 4,100 870 3,230
i 16,400 3,480 12,920
Odt= XrATHHEZ X
40,000, 0002 *50% 20,000 16,000 4,000
== 4,000 3,200 800
i 16,000 12,800 3,200
OurAzte| M AHst XA o 0 130,000 130,000
== 0 4,000 24,000
i 0 126,000 126,000
NSE W=S3 Mo Al 163,240 163,240 0
= 45,870 45,870 0
== 26,250 26,250 0
i 91,120 91,120 0
staE S AIAE 2= 40,000 40,000 0
= 20,000 20,000 0
i 20,000 20,000 0
206 M=H| 0 40,000 240,000
= 0 20,000 220,000
i 0 20,000 A20,000

- 374 -




2A: sHEDL
M EX SHAA
SRl DEE LS5 MAFAY (Crel: & 2l)
SA - FHH . O(32) - HRAY - BES Ofl o )3 o iImE=ST
01 M=l 0 40,000 A40,000
Oilt==statd tIE AIAE 2= o 0 40,000 A40,000
= 0 20,000 A20,000
i 0 20,000 /20,000
405 KHAHE S| 40,000 0 40,000
= 20,000 0 20,000
i 20,000 0 20,000
01 XL =SS FHSHI 40,000 0 40,000
Olt=3tatd S AAE 2=
40,000,000 1Al 40,000 0 40,000
= 20,000 0 20,000
= 20,000 0 20,000
ANEAIE S BARSAASL 3,371,246 3,205,039 166,207
= 74,700 74,700 0
| 100,000 100,000 0
= 227,993 236,433 A8,440
= 2,968,553 2,793,906 174,647
NEESASHA AFHXIA 3,371,246 3,205,039 166,207
= 74,700 74,700 0
I 100,000 100,000 0
= 227,993 236,433 A8,440
= 2,968,553 2,793,906 174,647
HASEAS KA 2,407,126 2,224,419 182,707
= 161,043 164,533 23,490
i 2,246,083 2,059,886 186,197
402 QIZERHE0| A 2,270,950 2,088,243 182,707
= 120,190 123,680 23,490
i 2,150,760 1,964,563 186,197
02 QIZENEAMLE R (01X M) 2,270,950 2,088,243 182,707
OJWXZ2 MatAld dx1 XA 1,021,250 820,000 201,250
0ZJ] SHOIHIEAIE XIR
40,000, 0002 *40IH A *50% 800,000 400,000 400,000
OAILRICIRA SEHE2IHE XIF
400,000,000 400,000 600,050 A200,050
OAETA (8 =3Y K&
10, 0003 *2607H 2 *50% 1,300 1,300
= 260 260
= 1,040 1,040
O2t, Ols M4t MEold =X XA
o« 2,893 A2,893
< 620 2620
i 2,273 A2,273
OAE30 AXEHBZH XI&
7,300,000 * 101 A *50% 36,500 32,750 3,750
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2A: sHEDL
S AEAIYO BWSE2US)
&Pl: DSESASML AFIAIR (CHol: X 2)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
= 7,300 6,550 750
o 29,200 26,200 3,000
OMIIHED(2EY, 2+8) XA
16,000, 0002 *3IH A *50% 24,000 30,000 26,000
< 4,800 6,000 21,200
i 19,200 24,000 24,800
ONSE 2, Ots MADHISAIS
ol 0 7,750 ANT,750
== 1,550 A1,550
i 6,200 26,200
OL)| L2F(AR) XA
74,350,000 74,350 80,000 Ab,650
< 14,870 16,000 21,130
i 59,480 64,000 24,520
LS MEED| EE IBIE KA 30,000 60,000 /30,000
307 212t01™ 0 30,000 /30,000
04 QIZFSHAIAIE E X 0 30,000 /30,000
O&EED| 24 E2XA o 0 25,000 /25,000
O=0122 Xt A2 AL o 0 5,000 25,000
MEDD| R4 EEXR 30,000 0 30,000
307 212t01& 30,000 0 30,000
04 QIZISHAIAIR BT 30,000 0 30,000
OMEL)| 24 22X
25,000,000 25,000 0 25,000
ORA=RCIZZ X 22 Al 5,000,000 5,000 0 5,000
ANEZ0SCHSIAIS (L BHI0IAIA) 121,000 137,500 /16,500
J| 55,000 55,000 0
< 19,800 24,750 24,950
i 46,200 57,750 A11,550
402 QIZERHE0|A 121,000 137,500 /16,500
J| 55,000 55,000 0
< 19,800 24,750 24,950
i 46,200 57,750 A11,550
02 CIZEXHEAIH 2 (0| X THEA) 121,000 137,500 /16,500
OAlIE A0S CHSIA (L EHAOIAIE,80. Tha)
121,000,000 121,000 137,500 16,500
J| 55,000 55,000 0
< 19,800 24,750 24,950
i 46,200 57,750 A11,550
Olch=se SEXE 2,282,781 2,284,781 22,000
= 115,300 115,300 0
< 223,250 223,250 0
i 1,944,231 1,946,231 A2,000
gdsllsE= 2,282,781 2,284,781 22,000
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2A:
X{XH -
o /e

cH):

SELS
Olchse SdAI
As)ls2s

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
= 115,300 115,300 0
< 223,250 223,250 0
i 1,944,231 1,946,231 A2,000
2= ESAY 614,000 616,000 22,000
< 26,000 26,000 0
i 588,000 590,000 A2,000
402 2IZ2EXHE0I1A 614,000 616,000 22,000
== 26,000 26,000 0
i 588,000 590,000 22,000
02 CIZEXI= AL B (0| M THS) 614,000 616,000 A2,000
ORMEE ASEA JI= AlY 534,000 536,000 A2,000
02 NS MSE B MY
20,000,000 * 190 Ax70% 14,000 466,000 A452,000
< 6,000 6,000 0
i 8,000 460,000 452,000
IFHSHS das &= s4 XA
300,000, 0002 *3IH A*50% 450,000 0 450,000
0L =URE dERX JI= AlY
100,000, 0003 * 170 2+ 70% 70,000 70,000 0
AHZE USTH LHTHHNSH K =S (HEAIY) 300,000 300,000 0
< 195,000 195,000 0
i 105,000 105,000 0
402 2IZ2EXHE0I1A 300,000 300,000 0
< 195,000 195,000 0
i 105,000 105,000 0
01 CIZFXHE A B2 (KERITHE) 0 300,000 300,000
OAHHIE ASH LHTHEHEX =4
o 0 300,000 300,000
== 0 195,000 195,000
i 0 105,000 105,000
02 CIZEXI= AL B (0| M THS) 300,000 0 300,000
OAHHIE ASTH LHTHEHEX] =4
150,000, 000& *20H A 300,000 0 300,000
< 195,000 0 195,000
i 105,000 0 105,000
MHRES(sgEE) 164,881 0 164,881
S2HXE 164,881 0 164,881
sxraerea 164,881 0 164,881
802 Btat=D1Et 164,881 0 164,881
01 = 0EX3ee3 21,860 0 21,860
02022 SSESMAAIESITHSH O] KFHAyoH
25,9802 26 0 26
020223 t==Z0F ADLEE O|XHe 4K
50,490& 51 0 51

_377_




2AM:
T ZH -
o /e

chel:

SURE
HRES(SRED)
SHNE

2A - 3 - H(SH) - MRAY - BAS Ol ArH Jl & A Hlnsz
00228 SZXE DR DA (0]KHE
&) 21,782,480 21,783 21,783
02 Al - THIEXSEE=2 143,021 143,021
O=20F =H| XA ESHEH (0| XFL
&) 1,321,000 1,321 1,321
020229 sESollEE TEHEMH(0|XIEE)
137,337,110 137,338 137,338
02022 SESESMAAILS NG O KHehayoH
11,690& 12 12
02022 Mt=20F ADIEE O| Kt2hadoH
22,710& 23 23
002 SEXT EXAY ESEA4(0IXHE
&) 1,179,090& 1,180 1,180
O2022 XIRD|21DF AIHAK ZISHEOH (O X}
IS 1,122,020 1,123 1,123
O2022 J|=22 D AIHAN EISHEH (0| X}
frg=T) 2,023,100& 2,024 2,024
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